Musterlösung (Dienstag)
1.)

	Z :
	20 x
	+
	15 y
	(
	max
	

	I :
	3 x
	+
	4 y
	≤
	210
	

	II :
	2 x
	+
	4 y
	≤
	180
	

	III :
	5 x
	+
	2.5 y
	≤
	270
	

	IV :
	x
	
	
	≥
	10
	

	V :
	
	
	y
	≥
	10
	

	VI :
	x
	+
	y
	≤
	150
	

	VII :
	
	
	x, y
	≥
	0
	


Zielfunktion ( maximiere die Deckungsbeiträge

Nebenfunktionen 
( Kapazitätsnebenbedingungen




( Mindestproduktionsmengen




( maximale Absatzmengen




( Nichtnegativität
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3.)

(I) ∩ (III):
3x + 4y = 210   (   x = 70 – 4/3y

Einsetzen in (III):

5(70 – 4/3y) + 2,5y = 270

350 – 20/3y + 5/2y = 270

y = 19,2 ( x = 350 – (20/3)*19,2 + (5/2)*19,2 = 44,4
Deckungsbeitrag

44,4 * 20 + 19,2 * 15 = 1176
